Math 274 Quiz 2 Name:

8 Sept 2017 Show Appropriate Work Point Values in | boxes |,

1. Find and implicit solution to the initial value problem

dz

= (z® + 1)t, z(0) = 1.
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[CONTINUED ON THE OTHER SIDE.]



2. Find an explicit general solution to
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3. Last time we discussed the following theorem,

Theorem If P(z) and Q(z) are continuous on (a,b) with z¢ € (a,b), then for any yo,
there exists a unique solution y(z) on (a, b) that solves

%— + P(z)y = Q(z), y(zo) = yo-

Find the largest domain implied by the theorem that a unique solution exists for the equation
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with each of the following initial coniditions. Do not solve the equation.

(a) y(0)=0
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(b) y(m) =¢€?
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